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20.22.32.1
PEO Reduced Monitoring – Reselection based on C1_DELTA

20.22.32.1.1
Conformance requirement

· The MS shall keep track of two C1 values:

-
C1a, the best C1 value experienced in the serving cell since last performing measurements for cell reselection, or, after cell selection, since selecting the serving cell; and 

-
C1b, the most recently evaluated C1 (i.e. the current C1 value) 

Upon evaluating C1 it determines if the current C1 value (C1b) is less than the best C1 value (C1a) by more than C1_DELTA. C1_DELTA is calculated each time measurements for cell re-selection are performed, see subclause 6.6.1a.4. After cell selection, C1_DELTA shall be set to to the value of the C1_DELTA_MIN parameter sent in SI13 for PEO and in EC SI 3 for EC operation – see 3GPP TS 44.018 [17]. 


The MS shall proceed as described in sub-clause 6.6.1a.4 if any of the following criteria are fulfilled:
-
Cell selection has been completed and monitoring of non-serving cells for cell reselection has not yet been performed;
-
C1 ≤ 0;

-
A change in BSIC is detected;
-
A downlink signalling failure is declared;
-
C1a – C1b > C1_DELTA; or

-
More than 24 hours have passed since the last evaluation of C1 and C2 of non-serving cells.
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20.22.32.1.2
References

3GPP TS 45.008, subclauses 6.6.1a.2 and 6.6.1a.3
20.22.32.1.3
Test Purpose

To verify that an MS that has enabled PEO, in packet idle mode, supports a reduced monitoring :

-
C1_DELTA could trigger a reselection

-
C1a value (Best C1 value on that cell) is updated to compare it with C1_DELTA
-
C1_DELTA is updated with neighbour cell measurements
20.22.32.1.4
Method of test

Initial conditions

System simulator:

Parameters changed from the default values in table 20.22.1. 

Cell 1 is activated, Cell 2 is not.

	Parameter
	Cell 1
	Cell 2

	
	Carrier1
	Carrier2

	Channel Type carried
	BCCH
	BCCH

	RF Signal (dBm)
	-90 
	--50 

	CBA
	0
	0

	RXLEV_ACCESS_MIN (dBm)
	-100
	-100

	CRH (dB)
	Default
	Default

	
	
	

	
	
	

	C1_DELTA_MIN
	9 dBm
	3 dBm

	C1_DELTA_MAX
	12 dBm
	15 dBm

	
	
	

	C1
	10
	50


Mobile station:

-
MS is in packet idle mode, PEO enabled, on carrier 1, eDRX cycle negociated to 0000 (1.9s)
Foreseen final state of the MS”

-
MS is in packet idle mode, PEO enabled, on carrier 2.

20.22.32.1.7
Test procedure

a)
Cell 2 is activated and the SS pages the MS on carrier 2 (RF at -50 dBm),

b)
After 1 min, the RF level of carrier 1 is reduced to -95dBm.


c)
After 1 min, the RF level of carrier 1 is increased to -80 dBm.

d)
After 2 min, the RF level of carrier 1 is reduced to -95 dBm.
e) After 2 min, the RF level of Carrier 2 is reduced to -70 dBm,  the RF level of carrier 1 is increased to -85 dBm, and the SS pages the MS on carrier 1.
f) After 2 min, the RF level of Carrier 2 is reduced to -80 dBm,  the RF level of carrier 1 is increased to -60 dBm

20.22.32.1.8
Test Requirements

1)
After step a), there should be no response form MS on carrier 2, C1(a and b) should be 10
2)
after step b), there should be no  response on carrier 2.
NOTE: C1(b) =5,  C1a – C1b < C1_DELTA and C1_DELTA= C1_DELTA_MIN as initial value.
3)
After step c)  C1(a) should then be 20, there should be no  response on carrier 2.

4)
After step d)  there should be a response on carrier 2 within 1min as reselection process is triggered by C1a – C1b > C1_DELTA and C2 of carrier 2 identifies this carrier as the best cell.
NOTE: As C1(b) =5, C1a – C1b > C1_DELTA and C1_DELTA= C1_DELTA_MIN here as  C1 from Carrier 1 < C1 from Carrier 2 and C_DELTA=min(max(D=C1_Cell1 – C1_Cell2, C1_DELTA_MIN), C1_DELTA_MAX). After reselection, C1a of carrier 2 is now 50 after reselection
5)
After step e), there should be no response on carrier 1.

NOTE: As C1(b)=30, C1a – C1b > C1_DELTA as a 20 dB drop is generated on carrier 2 so a reselection measurement is triggered but carrier 2 is still considered as the best Cell (as per C2). After reselection, C1a of carrier 2 is updated to 30 as well (-70 ). After the reselection mesurements the new C1_DELTA value is 15 (ie C1_DELTA_MAX)  as D = C1 carrier 2 – C1 carrier 1 = 15 > C1_DELTA_MIN 
6)
After step f), there should be no  response on carrier 1, this is checked for 2 min.

NOTE:As C1(b) =20, C1a – C1b = 10 < C1_DELTA (as updated after step e) as a 10 dB drop is generated on carrier 2 but even if carrier 1 could be considered as the best cell, no reselection process is initiated as C1_DELTA is not C1_DELTA_MIN anymore.
20.22.32.1.9
Maximum duration of the test

10 minutes

